Day 2 partioning of a segment.notebook

Warm-up

1. Find the distancd from the point (-2, 4) to the line 1 =2+ — 2 . Round to the nearest tenth.

Dis+ance

2,4) (2,2

d = iz~ + 2y
d=Ne+g A= (20 2 4o

2. Find the distance from the peint (-6, &) to the line » =—3x+10. Round to the nege

Distance

(—0,8) (0||0>

d = 1(0-0%+ (10-8)°
d:{3v+g d={vo 0dxb>
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3. Find the distance from the peint (2, &) to the line 1 = — x— 3. Round to the nearest tenth.
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Homework Answers

Parallel and Perpendicular Distance

lines
2) v= —;r— 5
4) L’Z—EI—E
' 7 7
0) _v=%x—4
8) y=3x-3
10) x=—4

2) (h,-3), (1,9), distance = 13 units

h = -4 h :(ﬂ
4) (0, p). (-8, 5), distance = 8 units

§- /(-9 (p5T

T M= WM Hp oY
6) (g 9), (8 9), distance =9 units O - (P_5)2
g = -1 '.‘O = ,P— 5

8) The endpoints of the diagonal of a parallelogram are (-4, 2) and (-7, z) and the
length is 3 units. Find the value of z.

Z= 2

| 3= m-])li-(‘&q)r
169 = (h-1) +14Y
(2
29 = (hl)
5= h
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Partitioning a Segment in 1 & 2 Dimensions

You have dready learned how to calculate the midpoint of a line segment. Think back...

« How many segments does the midpoint split a segment into?
e Are these segments equal in length?

This is called a 1 to 1 ratio (1:1), which means the length of the first segment is one times as big (or equal to) as
the second segment. Since the ratio is 1:1, you can also think of it as dividipg a segment into two equal parts.

D S S S S S S > )gecrtS
008 -6 -4 -2 0 2 4 6 8 10

A 2:1 ratio would be interpreted as a segment being divided into three equal parts (2 + 1) with two equal parts
representing the “2" in the ratio and the other remaining equal part representing the “1".

{::::::::.:::::::.-l—)gs&,(\ms

-0 -8 6 -4 -2 0 2 4 6 8 10

When we divide or separate a line segment, we are partitioning the segment. Today, we are going to leam
how to partition a segment using a given ratio, other than 1:1 (midpoint). When partitioning a segment, it Is
necessary to determine the total number of parts that the line segment must be divided into. In the following
ratios below, determining the total number of parts:

a. 2:5 b.3:5 c.1:2 d.3:8

7 se S g 3 )|

Partitioning a Line Segment on a Number Line

1. Given: Pisat 1 and Qis at 7. Find the point T, so that T partitions P to Q in a 2:1 ratio.

g =t o artitioning in One Dimension:
(:1:::::::1?5v—|—6—¢—e|—|—)3Set—*‘mS
) 1. Plot endpoints (x1 & x2)

0 2 4 6 8 10 sb%etermlne number of equal parts.
bseacd S -b— = dﬂbefermlne length of segment.

1s at 7. Find the poTnt T, so that T partftions P to 4. Count the number of equal parts in
the 1st part of the ratio and plot the

point.
F — ) 3 3etins' s
9 _ 5555
Cfggaas 3

3. Given: Alis at -6 and B is at 4. Find the point T, so thdt T partitions A to B in a 2:3 ratio.
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Partitioning Segments by a Ratio

1) Aisati, and B is at10. Find the point, T, 5o that T partitions & to B in @ 221 ratio.

{ i i L L i i i i L L i i L i L L i L i

-0 8 6 -4 -2 0 2 4 6 B
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{ i i i i i i i i i i i i L i i i i i I :h..._ ’
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4) Aisat-5andBisats. Find the point, T, so that T partitions A to B in 3 2:3 ratio.

-10 -8 -6 -4 -2 0 2 4 6 8 10
5) Aisat-6andBisat 9. Find the point, T, 5o that T partitions A to B in 3 3:2 ratio.

,‘ L L 1 1 i i L L 1 L i i L L L L i L I

-0 . -6 -4 -2 D 2 4 6 B

B) AlsatSand BBat -7. Find the point, T, go Briitions A to 2:1 ratio.

{ L L . L L L L L L L 'l L L L L 'l L L
-0 g - -4 -2 0 2 4 6 B
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7) AlsatZandBis et 7. Find the point, T, so that T partitions A to Bina 2:3 ratio.

{ i i L L i i i i L L i i L i L L i L i

-0 8 6 -4 -2 0 2 4 6 B
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B} Aisat-4and B iz at 10. Find the point, T, so that T partitions & to B in 3 3:4 ratio.

.‘ 1 L i 1 L L L L L L 1 1 L i L L I L 1

-0 g 6 -4 -2 0 2 4 6 g

challenge: Plot points A and B and then find the coordinates of point T.

g} Find the coordinates of T that partitions &(2, 3} to B(5, 9)in 3 1:2 ratio.

[y
IS

10) Find the coordinates of T that partitions A(1, 4} to B(7, 13]in 3 1:2 ratio.

11) Find the coordinates of T that partitions &(-2, 1) to B{8, 11




Day 2 partioning of a segment.notebook April 09, 2019

Partitioning a Segment in Two Dimensions

Partitioning a segment in two dimensions means you are partitioning a line segment in a coordinate plane. Itis
wvery similar to partitioning a segment in one dimension except instead of multiplying your fraction by the length;
wvou will be multiplying by the rise (v-coordinate) and run (x-coordinate) of the segment.

Example 1: Given the points A(-2, 4) and B(7, -2), find the coordinates of the point P on the line segment AB that
partitions AB in the ratfio 1:2.

| ﬂt Partitioning in Two Dimensions:
& 1. Plot points (x1.y1) & (x2, y2).
T - ) rise
4 WK ) 2. Determine your slope [—).
¥ 1 run
3. Multiply the rise by the fraction that represents
lp _e _ the first part of the ratio [a;:h )
—= gl T 2 —E 4. Multiply the run by the fraction that represents
3 , - :I_ = the first part of the ratio [a;:h )-
4

5. Go back to point A and plot a point using your
new rise over run value.

6. The plotted point represents the given ratio.

3=

Example 2: Given the points A[-1, 2) and B (7, -6), find the coordinates of the point P on the line segment AB
that partitions AB in the ratio 1:3.

gt
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Example 3: Given the points A(-5, -6) and B (7, ), find the coordinates of the point P on the line segment AB
that partitions AB jn the ratio 5:1.

4 |
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Example 4: Given the points A(-3, -4) and B(5, 0}, find the coordinates of the point P on the line segment AB that
partitions AB in the ratio 3to 1.
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Example 5: Given the ;()infs Al-6, 5) and B(4, -5), find the coordinates of the point P on the line segment AB that
partitions AB in the ratio 3:7.

| o

- @ (6 /Q~>

[=

£

N

2 14 3

e

=
(=]

<F



Day 2 partioning of a segment.notebook April 09, 2019



	Page 1: Apr 9-9:44 AM
	Page 2: Oct 25-9:52 AM
	Page 3
	Page 4: Oct 25-9:52 AM
	Page 5: Oct 25-9:52 AM
	Page 6
	Page 7
	Page 8: Oct 25-12:59 PM

